
Please follow the steps mentioned below to reproduce the problem. 
 

1. Go to a new line in open office writer. 
2. At the start on the line writer the text TEXT1TEXT2 
3. Now, select TEXT1 and create a bookmark named t1. Same way select TEXT2 and create a 

bookmark named t2. 
4. Now, save the document on local machine. 
5. Using navigator(F5), try to verify if bookmarks are correct. As shown in images below. 

       

 
 

6. Now,  go to the TEXT1 and  delete the text by deleting characters one by one. After that visible 
text in document should be TEXT2. 

7. Now, save the document on local machine. 
8. Using navigator(F5), try to verify if bookmarks are correct. (Till now the bookmarks will be 

correct.) As shown in images below. 



              

 
9. Now, close the document. Re-open the same document. 
10. Using navigator(F5), try to verify if bookmarks are correct or not. Now, here when you are 

clicking on t1 bookmark it shows TEXT2 as bookmark which is wrong. When you look into the 
content.xml of the ODT file the bookmark start and end nodes are in proper place but when you 
open the document in Open Office is shows bookmark t1 incorrectly. As shown in images below. 
 



                

 
 



 
 

11. Now, again when you are juggling with the same file with these bookmarks some more times by 
empting the text in bookmarks and closing-reopening file, the xml structure is also changed. 
As shown in image below. 
 

 
 
 


